TN 6 AR = OB F MKV B E R R

S ZEAZEG AR—Y Ok $5FE KK (50m) 1/2
HIH @ 20244E7TH6H (1) ~7TH7H (H)
No.42 BB 50m &Fik= & KL 25. 71
B K £ B FE 7K B iclE
1 H4E &Y b =M 2 F12 12/ 4 27.43 10#% ( 0.53)
2 & Kar BEO KT K3 11/ 4 27.58 8%k ( 0.56)
3 W f&E w7V eSS =2 11/ 5 28. 47 8% ( 0.62)
4 fInpkE BEIR SCHz 52 10/ 5 28. 89 8t ( 0.60)
I 7 - 1= B 53 12/ 5 29. 31 7#%  (0.59)
6 WE K aE/SS K2 10/ 4 29. 42 68% ( 0.63)
7T =R &K w7V eSS =2 12/ 3 30.53 65% ( 0.60)
8 A HEA AL R = 11/ 3 30.70 6% ( 0.70)
9 Il B IWHEMSC =3 12/ 2 31.21 5#%% ( 0.67)
10 &)k 75 o2E/SS il 10/ 6 31.32 6% (0.67)
11 Kl BREi WHHS C = 11/ 7 32.32 5#% ( 0.69)
12 25 AR AKBR IWHHS C 2 11/ 2 32.45 7% (0.62)
13 HJ)Il =FH Hw7Y eSS ] 12/ 7 32. 51 7% ( 0.57)
14 Ml FEE A4 b~ %0 13 10/ 3 32.83 4%%  ( 0.68)
15 He D KALS C H13 10/ 2 32.98 5%k ( 0.57)
16 &% A A A 1 217 =eh| 11/ 6 33.00 6% ( 0.64)
17 BiH  HEFH T S SHafx 1 10/ 7 33. 61 7% ( 0.58)
18 #&kf & —HK K2 11/ 1 34.10 1% ( 0.66)
19 Py e L IR =2 12/ 1 34.85 2%%  ( 0.64)
20 Ty AKFH HT7AHS S 3 9/ 3 34. 86 3f%k  (0.67)
21 AW Hilk %/ SS ] 12/ 8 35.58 4% ( 0.63)
22 WH &KX a%/SS /N6 10/ 1 35. 84 T#%  (0.63)
OPN FA7K 173 2%/ SS =l 12/ 6 34.29 3% ( 0.60)
OPN BJII  #bpd aE/SS =eh| 9/ 2 34. 46 7#% ( 0.68)
OPN Fk i HEF N 2Z/8S S ] 8/ 3 35.82 4%% ( 0.78)
OPN [EhH A5 FH kv FSC /NG 9/ 5 35.92 *F8) 9%k ( 0.62)
OPN FEA BEE WIS C M1 9/ 6 35.97 5%% ( 0.62)
OPN JII3% fht HT7HESS M 4/ 4 36.09 5#% ( 0.63)
OPN HiifG 1733 HEHZA4 1 8/ 2 36.12 4% ( 0.61)
OPN /NSRRI H* HEHZA /NG 8/ 4 36. 20 7#%  ( 0.50)
OPN BJI| KHE KALS C 1 9/ 4 36. 28 3 (0.71)
OPN B/ JEE TS Sk NG 7/ 4 36.55 5#% ( 0.78)
OPN HH MH=E 2E/SS 2 10/ 8 36. 65 3% (0.62)
OPN R niAh, OFF572F v 1 11/ 8 36.92 5% ( 0.68)
OPN /NIRg 2848 N 2RSS 12 6/ 2 37.45 28%  ( 0.69)
OPN fnjgE  f MBSH1 =7 NG 9/ 7 37.51 6f% ( 0.60)
OPN & BeAst AL R 1 7/ 8 37.54 4%%  ( 0.67)
OPN ikl 47RK Hhy7SC 3 8/ 5 37. 11 % ( 0.61)
OPN RGP J&3F ] SSHa¥+ 3 8/ 7 38.02 ( 0.66)
OPN J& AT WIS C 1 6/ 7 38.10 4%%  ( 0.73)
OPN (LI Bt ) TS Stk 12 9/ 1 38. 11 2% ( 0.83)
OPN 3% kg S @R = 7/ 3 38.59 ( 0.82)
OPN Bl iz JSSH¥F NS 6/ 1 38. 74 5#%  ( 0.54)
OPN K& Wk b= 2 )1 /NG 8/ 1 38.78 7#%  ( 0.69)
OPN i)l A A4 h~ LR NG 6/ 5 39.03 5% ( 0.67)
OPN IRES  #his KALS C 1 5/ 4 39.15 3% ( 0.69)
OPN LA B Hhy7SC /N5 8/ 6 39.22 7#%  ( 0.65)
OPN JHH  FEsr Ky 7SC /N3 7/ 1 39. 36 11%% ( 0.62)
OPN JEHn {Ef# A4 h~ U 40E /NG 7/ 2 39. 61 7#% ( 0.61)
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TN 6 AR = OB F MKV B E R R

S ZEAZEG AR—Y Ok $5FE KK (50m) 2/2
HIH @ 20244E7TH6H (1) ~7TH7H (H)

No.42 BB 50m &Fik= & KL 25. 71
B K& 4 T & FE K& iclE

OPN f&lR: K& ~N2Z2XS'S 1 /7 39.99 2%% ( 0.67)
OPN bt R 2E/SS ] 5/ 6 40. 21 ( 0.64)
OPN VEH 15 WILS C ] 8/ 8 40. 21 ( 0.72)
OPN JIly&  HELE k> 7S C /NG 6/ 4 40. 31 6% ( 0.65)
OPN fazk HE LS C H12 7/ 5 40. 53 ( 0.68)
OPN fp¥h 4 J S SkPR ! 4/ 3 40. 86 7% (0.67)
OPN - sEfR% IWWEHS C NG 6/ 6 40. 88 3k (0.58)
OPN /NE FEik e @i =l 5/ 1 41.14 ( 0.79)
OPN A0 HE VAV NV 12 5/ 2 41.14 ( 0.68)
OPN A KiI&E Kt S C /NG 9/ 8 41. 45 5#% ( 0.66)
OPN KH #c YA NI NG 6/ 3 41.50 L#k  ( 0.92)
OPN FfHi FniE TS SR /N5 5/ 8 41. 51 5%%  ( 0.63)
OPN ZhJ] HHY k7S C 1 6/ 8 41.59 L% ( 0.56)
OPN By ¥EH k7S C /NG 5/ 5 41.75 5#%% ( 0.55)
OPN BRIk HI7AHSS /N5 4/ 5 42.12 5#%%  ( 0.60)
OPN HR 1 e i K#LS C ! 5/ 7 42. 43 5#%% ( 0.70)
OPN Bl iR, B ZA4 /NG 3/ 1 42.58 28% ( 0.72)
OPN mA  BHIK AU AT NG 3/ 7 42. 63 2% ( 0.69)
OPN [LifE FEHE ISSHT NS 4/ 2 43. 45 45%  ( 0.72)
OPN [LiE ¥ WS C 1 4/ 1 43. 83 ( 0.73)
OPN LA S22 7 S Sk NG 3/ 4 43.90 L#%  ( 0.68)
OPN HH  #5ED K#LsS C /N5 4/ 7 43.98 3%k (0.77)
OPN ¥ E Ak b= 21 /N2 3/ 5 44. 44 8f% ( 0.73)
OPN $5AK e I SSH¥F ! 3/ 3 44. 48 3f% ( 0.58)
OPN /]\AR gt YA N /N4 5/ 3 44. 48 «F ) 58k ( 0.62)
OPN K #EEy MBSH#/A =) ! 3/ 2 44. 61 3k (0.59)
OPN “F#p % LKk 777 /NG 4/ 8 44.92 3 (0.62)
OPN 9P A a%/SS ] 3/ 8 45. 94 ( 0.76)
OPN EHifg #&= 4 = = 2/ 2 45. 99 ( 0.65)
OPN /g 5 k7S C /N3 2/ 4 46. 49 %%  (0.61)
OPN 711 B ] SSH|+ /NG 2/ 6 46. 52 2#% ( 0.76)
OPN ~FH  JRER a%/SS /NG 4/ 6 46. 69 28  (0.72)
OPN 1Tkf  BEE PR =2 1/ 6 47.35 ( 0.61)
OPN #fH  $IFn VYAV NI ! 2/ 3 47. 44 4%%  ( 0.67)
OPN Jf I 1~ F=4S S /N4 3/ 6 48. 27 3% (0.67)
OPN HME&HE +-BA ~N2Z/RS'S /N 1/ 4 48.57 3% (0.61)
OPN LA R0 ] S S#Pk /N4 2/ 5 49.19 3% (0.79)
OPN #aA & A7 YAV NI /N4 1/ 5 49. 62 ( 0.62)
OPN #H FEBfE R YZYAY /N /N3 2/ 1 49. 83 2%%  ( 0.74)
OPN JH ek a%/SS /N4 2/ 7 52. 61 L#k  ( 1.52)
OPN 7 HHHE KRR FE S S /N2 1/ 3 53.45 3 (0.75)
OPN ALy &34 AR IIN2 1/ 7 1:01.40 ( 0.73)
OPN E4&)11#0 A VYAV N sIN4 1/ 2 1:01.61 =F&) ( 0.76)
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